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byte[] utcBytes =

System. Text. Encoding. Default. GetBytes (string. Format (“@UTC, {0}#”,
System. DateTime. UtcNow. ToString (“yyyy-MM-dd HH:mm:ss”))) ;
_NetStream. Write (utcBytes, 0, utcBytes.Length);

2. WE ACK HE.

W SRS A R G, NLEs B Rk — R B A RS54, RS a2 A & ACK 15 2414
Bl —HAREEZ .

ACK #3: @ACK, 15 B 785 (7S Bkl 5 3 a0k 1)) #

;. @ACK, 0035#

Ca B ARG :

bytel] ackBytes =
System. Text. Encoding. Default. GetBytes (string. Format ("@ACK, {0}#”, serial));

NetStream. Write (ackBytes, 0, ackBytes.Length);



2 BrilUEMT

WF502 ¥ #% 3N hex A=,
Hex HOHE N gmiG

AL (2byte) + BKE (2byte) +HHLE (2byte) + FEHES (2byte) + [H
R (4byte) + IMEI 5 (8byte) + RTC HHHTIE] (6byte) HIRESKE (2byte) +
WERE (1byte) + A4fE B (lbyte) + WiFi {55538 (1byte) +WiFi RFE
(lbyte) +HMiIHEE (2byte) + IR (2byte) + B (2byte) + FEHY BAL(B)
+ FEYT RAL(C) + ERFHS 2byte) + BWAL(2byte) + fZIEAL (2byte)
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ZABIEIT AU RIZEIE R, 5 AEA B 28, &
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4 15H OAH OBH O3H O05H 23H FREHATA]A: 2021/10/11
15:05:35
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Bitl: 1 HAEE
0 HMIEHE
Bit0: 1 MHLEBFERH
0 MEERFAH

WiFi {55 RE

Hex ¥R, BAfi: —dbm

WiFi RZ&

Bit 7 HELEX

bit 6 BHIEENX

Bit 5: HLEX
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BAf7: 10mv
. 01H85H F7x 3. 89V.

B, 0.1C, 257, Hex ¥R,

bitls RNEEFEBRBLBIER: 0-IEF, I-7F;
bitld REBERS 0-EEE, 1-HEE,
bit0-13 KR EME,

W 01H10H R/ IER 27. 2°C,

41H23H R iR 29. 1°C,

80H O0H R/~{ERERH
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B4 0. 1%, , 2byte, 7N,

bitls RNEEEBRBRABIER: 0-1EF, I-FF,
bit0-14 KB E(E,

1 02H55H R RIBFE 59. %,
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XTRRY REWER, B, BAREMNE, RNb5HE
AR
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£33

M1 FFEE R, [1, 9999];
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MBS (BFEBNS) BB Z TR

SRR

ODH OAH

R ZEHE I SE R

Ba 5

54 5A 00 26 24 24 05 02 01 07 00 00 05 02 00 00 00 00 00 02 16 04 1B 08 17 3A 00

0A AA 00 27 1F 01 63 01 07 02 B8 01 65 2C CB OD 0A




HEAAT: 54 5BA— “TZ”

ALK JE 00 26—38 bytes;

L5 24 24— <38 ;

RIS 05 02;

R 2 01 07 00 00—1. 07;

IMET 5 05 00 12 00 00 00 00 02—0500120000000002;
RTC HHAKF[E]: 16 04 1B 08 17 3A—2022\04\27 08:23:58;
IRAKSE: 00 0A—10 bytes;

HRERR: A,

223545 5.0 00—0000 0000;

WIFI (£ 55&% : 27—-39dbm;

WIFL JRZS:  1F-0001 1111;

FR Y s 01 63—3. 55V;

JEFE 01 07-26.3°C;

HBFE: 02 B8-69. 6%;

P45 01 65 —0357;

B : 2C CB;

{Z1E47: oD 0A;
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